[image: image1.png]‘Howell Auto Parts is considering whether to borrow funds and purchase an
‘assetor o lease the asset under an operating lease arrangement. I he com.
pany purchases the asset the costwill be $10,000. T can borrow funds for
four years at 12 percent interest. The firm will use the three-year MACI
depreciation calegory (with the asscciated four-year write-olT). Assume a tax
rale of 35 percent,
“The other alemative is o sign two operating leases, one with payments of
$2.600 for the first two years. and the olher with payments of $4.600 for the
Tast two years. In your analysis, round all values 1o the nearest dolla
. Compute the afletax cost of the leases for the four

Compute the annual payment for the loan (round 10 the nearest dollar).
€. Compute the amrtization schedule for the loan, (Disregard o small if-
ference from a zemo balance a the end of the loan—due to rounding.)

. Determine the depreciation schedule (see Tuble 12-9).
Compute the afertax cost of the bormow-purchase allernative

. Compute the present value of the aflertax cost of the two alernaives.
Use a discount rate of § percen

Which alernative should be selected. based on minimizing the present
value of aflertax costs?




